


(B) irrational and unequal

(D) none of these
IS. The order of & matrix A is 2 x 3 The order of -3A is :
99 2x3

(B) 3 x2 (e o
16. On dividing fx) by (2x - 3), the remainder is :

@) f2) of f %) © f@ W

SECTION-B (12 Marks)
1.

Seema deposits 21 800 per month in a recurring deposit account for 2 years at 9% p.a.
of interest she wi| receive at the time of maturity is :

(4) 4,000 B1%4,050 (C) 4,250 (D) 4,2

I8 x+1)isa factor of : ‘
By 52, @(x3+x2—x-1 (D) all tt
19. A shopkeeper in Jaj

A) w20y
pur sold a necklace to 2 consumer in Jaipur for ¥82,400. If the

is 18%, then IGST is - :
(A) %7416 (B) 14,832 (C) %15,256
20. If 8<3x+1< 10, x €R, then )
){~3Sx<3,xeR} ; B)if2 < xi<i3) v cRa
©) {-4 <x<3,xeR} ~ BYifi3 =ix < 3/ ¢ iRy

(D) nil

the solution set is :

21 Ifa:b=5:2,then,—a;\bisequalto:

7 B 3 2
) 3 B) < @ ©) 3
25l 4
22. The transpose of the matrix |08 3/ is :
1Thie ‘
2. ~1 4 200 1 2.1 0 0
A1 1 614 A ~] & @© (-1 1 5 D) | 1 |
0 5 348 4 3.6 4.6 3 2
SECTION-C (12 Marks)

23. The equation (k + 4) x
(i) How many valu
(a) 1

B Dt 1=0has equal roots,
for k?
Y







